2 Wr 2 WT.

WS

M6x60 M6x40  M6x20 BUHT Bapaliek EBpoBuHT 7x50
4 wr* 14 wr** 16w 2 wr. 12 wr.

* 2w npu wupuHe 80,90 . 3 wT. npu wupuHe 120,140
** 10 wT. npu wupwuHe 80,90 . 12 wT. npu wupuHe 120,140

4 wr. 2 WT.

d)ypHMTypa Ana yCtaHOBKU noabEMHOro MexaHusma

11 -

WHcTpykums no cGopke kpoeaTty Milano
C NOABLEMHbBIM MeXaHU3MOM

www.sonum.ru = M8x45 M6x20 M8
2T 2WT 2WT. 41UT. 8 wr. 4wt
2 WT.
1 2 A

~J

\y/Hﬁcﬂ
B







